
 Coupling Machine Repair 
 
 
RGA Number: _______________________________________ 

  
Customer Name:_____________________________________  

Date Received: ______________________________________  Serial Number: ______________________________________  
Date Repaired:_______________________________________ 
 

 Type:______________________________________________  

  
 PART # DESCRIPTION #  PART # DESCRIPTION # 

 CMS-1500 R Swedge for Coupling Machine   EG-CM-0560 Wire, 16 ga standard red  
 CMS-3575 Shaft for Coupling Machine   EG-CM-0660 Wire, 16 ga standard blue  
 EG-CM-0170 Coupling Machine Faceplate   EG-CM-0670 Wire, 16 ga standard yellow  
 EG-CM-0220 Hydraulic Cylander-new mach   EG-CM-0680 Wire, 16 ga standard orange  
 EG-CM-0230 Motor w/capacilar & relay, 110 v   EG-CM-0690 Wire, 16 ga standard brown  
 EG-CM-0240 10-24x3/8 rod head slotted screw   EG-CM-0700 Wire, 16 ga standard green  
 EG-CM-0250 ¼-20 elastic locknut   EG-CM-0710 Wire, 16 ga standard purple  
 EG-CM-0280 Flat washer-3/8” ID x 1” OD   EG-CM-0720 Wire, 16 ga standard grey  
 EG-CM-0290 Nut 3/8-16 elastic locknut   EG-CM-0730 Wire, 16 ga standard pink  
 EG-CM-0300 Nut-10/24 wood T-Nut   EG-CM-0740 Wire, 16 ga standard tan  
 EG-CM-0310 Washer #8 Zp Lock Washer   EG-CM-0750 C. Transmission Fluid  
 EG-CM-0330 Bolt-U Bolts   EG-CM-0760 Nut 5/16 Lock Washer  
 EG-CM-0340 Draw Latches-Zinc Coated   EG-CM-0780 Coupling Machine 6/32 x ½  
 EG-CM-0350 Toggle Switch   EG-CM-0785 Coupling Mach. 6/32 x ¾ slot screw  
 EG-CM-0360 Mount for Toggle Switch   EG-CM-0810 Screw 10/24 x 5/8  
 EG-CM-0370 Contact Block   EG-CM-0850 Coupling Machine Bolt 5/16 x 18  
 EG-CM-0380 Contact 1   EG-CM-0860 Coupling Machine Nut 6/32  
 EG-CM-0390 Anchor Connector   EG-CM-0881 Coupling Machine Mounting Block  
 EG-CM-0420 Limit Switch Cutler Hammer   EG-CM-0890 Screw Set Screw  
 EG-CM-0430 Electrical Socket   MG-AH-6000 Metal Paste  
 EG-CM-0450 Wire, 16 ga Standard White   EG-CM-0920 Name Plate for Domestic GCM  
 EG-CM-0460 Wire, 16 ga Standard Black   EG-CM-0970 Nut 5/16 Elastic locknut  
 EG-CM-0470 Nuts – yellow Wire Nut   EG-CM-1000 Dip Stick Assembly  
 EG-CM-0490 Wire Term 16/14 ga Block Spade #6   FG-BF-0140 Screw: 3/8-6x5/8 Long Cap Screw G5ZP  
 EG-CM-0500 Male Quick Disconnect 16 g   FG-BF-0240 Screw: 3/8-16x1 ¼” Cap Screw  
 EG-CM-0510 Female Quick Disconnect 16 g   FG-FW-0130 Gasket-1/2 odx 5/16 dx1/8 bum handle  
 EG-CM-0520 Gasket 3.2180Dx2.625 1DX 1/8 Bun   FG-MF-0070 Sump Access Cover Handle  
 EG-CM-0531 Support Frame for GCM-0100   FG-NF-0070 Nut: 3/8:-16, hex nut ZP  
 EG-CM-0550 Hydraulic Hose Assembly: 7-1/2”   HW-PT-0130 Washer 3/8” Lock Washer  
 EG-CM-0560 Hydraulic Hose Assembly   L-GCM-0010 Label, Barcode Coupling Machine  
 EG-CM-0570 Plastic Cover for GCM-0110   LL-PL-0060  Plute, Coupling Mach. Warning make  
 EG-CM-0580 Plastic Base for GCM-0110   P-CWP-6060 Coupling Machine Warranty  
 EG-CM-0610 Trip Bulb for new GCM-0110   P-LDM-4070 Install. Instr. – Coupling Machine  
 EG-CM-0620 Up/Down legend for GCM-0110   PM-CM-0025 Box set – “new” Coupling Machine  
 RG-BM-0400 Extended Gasket 1” x ¼”   FG-BF-0650 Thumb Screw  
 EG-CM-2030 Motor Reservoir      
 
 
Labor Hours: 
 
Work Performed By: 
 
 


